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QUESTION 1

Which of the following is an example of an Increment? (Choose the best answer.)
A. A plan for the overall product release.

B. A mock-up of the product marketing materials.

C. A design for the product.

D. A product roll-out plan.

E. A valuable, useful set of products featured.

F. All of the above.

Correct Answer: E

Reference: https://www.scrum.org/resources/what-is-an-increment

QUESTION 2

Which two activities will a Product Owner engage in during a Sprint? (Choose two.)
A. Run the Daily Scrum.

B. Prioritize the Development Team\\'s work on the Sprint Backlog.

C. Update management on what is being worked on.

D. Answer questions from the Development Team about items in the current Sprint.

Correct Answer: CD

QUESTION 3

What happens if the Scrum Team cannot complete its work by the end of the Sprint?

A. The Sprint is extended and future Sprints use this new duration.

B. The Sprint length is unchanged and the Scrum Team continuously learns and adapts.

C. The Sprint is extended temporarily. Lessons are taken to ensure it doesn\\'t happen again.
Correct Answer: B

Reference: https://www.scrum.org/forum/scrum-forum/35908/scrum-team-can-change-length-sprint

QUESTION 4
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A new Developer is having continuing conflicts with existing members of the Scrum Team, which is impacting the
delivery of the Increment. If necessary, who is responsible for removing the Developer from the Scrum Team?

A. The hiring manager is responsible, because they hired the Developer.

B. The Product Owner is responsible, because they control the return on investment (ROI).
C. The Scrum Master is responsible, because they remove Impediments.

D. The Scrum Team is responsible.

Correct Answer: D

QUESTION 5

Which of the following might the Scrum Team discuss during a Sprint Retrospective?
A. Methods of communication.

B. The way the Scrum Team does Sprint Planning.

C. Skills needed to improve the Development Team\\'s ability to deliver.

D. Its Definition of "Done".

E. All of the above.

Correct Answer: E
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